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COMMON HALF YEARLY EXAN"NATlON 2024
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MATH-EMATlCS-

S

Time : 300hrs R SR TR part—1 - . Marks : 100
I. Choose the correct answer ' 14x1=14
1. If the ordered pairs (a+2, 4) and (5,2a +b) are equal then (a, b) 1S '

a) (2,-2) C b)) .. ©)(23) o d) (3, -2)

2. Iff: A>Bisa buectlve function and if n(B) = 7, then n(A) is equal to

) Th g9 . o ' d) 14
3.“ If the HCF. of 65and 117 is expressmle in the form of 65m 117 ‘then the value of mis
" a)4 i b) 2 - LT c)1 I . ‘ d)3
4. The value of (13 +23 433+, +153). — (1 +2 +3+. .+ 15) is.® 4
~ a) 14400 . b)14200. " c) 14280 - d) 14520
5£memanmumswmmx+y 3z= —&:w+7pmsz:9s

@ x=1y=2z=3 ' S byx=-1,y=2z=3

@x——1y——22 235 o o o) xs g e 3
~ 6. If number of columns and rows are not equal in a.matrix then itis sald to be a
a) dlagonal matnx b)Y rectangular matnx
7.c) square matnx KRR i d) |dent|ty matnx '
7. fAABC is an lsosceles trlangle with £C = 90° and AC =5 cm, then ABis
a)25cm  * b)sem o 10cm 5\/§cm.

8. How many tangents can be drawn to the circle from an extenor point?

a) one. \ b) two - - .c)infinite “ i d)zero
‘The point of intersection of 3x—y:=4and x + o= 8 i is )

a) (5 3) , b) (2, 4) - ¢) (8, 5) ':' S 'd)"(4 4)
If the ratio of the height of a tower and the length of its shadow is J— 1 then theangle
of elevation of the sun has measure : :

- 2) 457 b) 30° © ey 800 e )60

1.
be o e

2.
- radius. The helght of the cone is-

13.

The height of a nght cwcular cone whose radlus ts 5 cm and slant helght is13cm WI|| _

a)12em b)10cm - )13cm - d)5cm
A solid sphere of radius x cm is melted and cast lnto a shape of a solid cone of same

-a)3xcm - tbyxemy © o, )4x cm oo d) oxcm .-

The standard deviation of a data is 3 If each value is multlphed by 5 then the new
. variance is ‘ . _ A _

a)3 gt D) A5, i ) B 4 o) 225

{
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14. The 'probability of sure event is. : T e | '
a)O .o b1 g e C), 2.5 - dy3z
: . Part- I
"LIL - Answer any 10 questions. (Q.No.28 is compulsory) | 10xz =20
15 Let A= {1 2,3Yand B ={x | x is a prime number less than 10} Find A x B and BxA
16. Represent the functronf {(1 2),(2,2),(3,2),(4, 3), (5, 4)} through
i) an arrow diagram ‘
u) a'table form
i) agraph _
17. Solve : 8x="1 (mod 11). L B g .
~18. Determine the nature of the roats for the quadratio equation 15x2 "+A'11x_+'2 =0
19. IFA=|=V5 2 |y

. then find the transpose of —A. .
-5 , oD A

20. I the Fig, AD is the bisector of ZA. If BD =4 ¢ém, DC=3 ¢m and AB = 6 ¢m, find AC

By ¥ e
. . \ | XE S Sl |
% . Ny ¢ '

B Vo '.-:D.i. o e
21 .‘ Show that the strarght lines 2x + 3y - 8 0 and 4x * 6y +18=0 are parallel
22. Find the area of the trrangle formed by the pornts (-10, —4) ( 8, —1)and (=3,-5)
23. Prove that cotg + tang = Sece cosecOd

24. A tower stands vertrcally on the ground. From a pornt on the ground whrch is48 m
away from the foot of the tower

the angle of elevatron of the top of the tower'is 30°.
Find the height of the tower, -

25. i the crrcumference of a conical wooden prece |s 484 cm then find its volume when rts
" height is 1 05 cm.

26. Find the range and coeffrcrent of range of the followrng data 25, 67 48 53, 18, 39 44,

¥

:'_ Kindly'Send Me Your Key Answer to our emgil id - Padasalai.net@gmail.com -


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

. < B e x Maths .
27. A die is rolled and a coin is tossed simultaneously. Frnd the probabrlrty that the die
: shows an odd-number and the coin shows a head .
28. Flnd the sum of 3 + 1 + 1/3 LR R -
Part- Il : Y
1. Answer any 10 questlons (Q.No.42 is compulsory) y 10x5=59
‘29, A={x eW|x<2},B={xeN|1 <x<4}andC = {3,5}. Venfythat
- Ax(BuC)=(AxB)u(AxC) o
\ 30 The function ‘t’ whrch maps temperature in Celsrus (C)into temperature in Fahrenhert '

9
(F) is deflned by t(C)=F where F= EC +32. Frnd ‘

".i) {0) piie i) t(28) R 11 t(.—10)- Do DL TN
~iv) the value of C when t(C) =212 - 1 ALy
- v) the temperature when the Celsius value is equal to the Farenhert value P,
31, ln a G P. the product of three consecutive terms is 27 and the sum of the product of

'57
two terms taken ata tlme is —2— Find the three terms. -

32 Rekha has 15 square colour papers of sizés 10 cm, 11 cm 12 cm,..., 24 cm. Hovv Gk
] ‘much area can be decorated with these colour papers? priny :
33.°36x% - 60x3 + 61x2 —'mx +n find the values of m and n if the polynomlal |s perfect ’
square. . : g L
34. State and Prove Pythagoras Theorem SRR SRR ' 1
35.. Find the value of k, if the area of a quadrilateral is' 28 sq unrts whose vertrces are taken
in the order e T
(—4 -2), (-3, k), (3, =2) and (2, 3) ' : :
~ 36. Find the equation of a straight line- through the point of rntersectron of the lines
8x + 3y =18, 4x + 5y = 9 and blsectlng the line-segment j Jornrng the pornts (6,~4) and
(—7 6). ‘ :
37. The angle of elevation of the top ofacell phone tower from the foot of a high apartment
is 60° and the angle of depression of the foot of the tower from the top of the apartment
. 15 30° . if the height of the apartment is 50 m, find the height of the cell phone tower.
. According to radiations control norms, the minimum height of a cell phone tower should
be 120 m: State if the height. of the above mentroned cell phone tower meets the
; radiation norms: A
38. A jewel box is in the shape of a cubord of drmensrons 30 cm x 15 cm X 10 cm:
; surmounted by a half part of a cyllnder as’ shown in the fi igure. Find the volume of the »
box. ~ : g
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39, An aluminium sphere of raduus 12 cm is meltedto make a cylinder of radius 8 cm. Frnd
“the height of the cylinder. |
“40.. The time taken (in minutes) to complete a homework by 8 students in a day are grven'
by 38, 40, 47, 44, 46,43, 49, 53. Find the coefficient of variation.

41 Three unbiased coins are‘tossed once Flnd the probabtllty of getting atmost 2 ta||s or
atleast 2 heads.

a b 1. 0] 5 ST
42..lfA=C At and'—o‘ i showthatA -(a+d)A (bc — ad)12

. Py , ' Part IV _
IV. ‘Answer all the questions. - CURIE T % .Yl 2%x8=16 "
43.-a) Construct a triangle similar'to a glven triangle PQR with its sides equal to2/3 of
“the. correspondlng srdes of the triangle POR (scale factor 213 < 1) .
‘ SR T “(OR) .

b) Construct a'APQR in WhICh PQ=8cm, /R = 60° and the median RG from R to
© " PQis 5:8 cm. Find.the Iength of the altltude from Rto PQ.-

44, a) A school announces that fora certaln competrtlons the cash prlce wrlI be distributed
- forall the partrcrpants equally as show below '

i) Find the constant of variation.

I

) Graph the above data and hence f|nd how much WI” each partlcrpant get rf the
- number of participants are 12 e

\ No. of participants (x). Bl TR 2| 4 N 8 | 10 .

LAm0unt for each partrcrpants in Rs (y) '180 ; 9_0’" 9,60'; ~45 | 36 |
b) Draw the graph of y= x2 + x 2 and hence solve x2 EX= 2 0

; **p******
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